10/10/24, 12:39 PM

Regional Advisory

Tt S Haw Far
YRd T fag faym

YR, ISR

HRTH TR HY IRTHRE $a1g

fe&i® : 10-10-2024
YRR & T BT YaTH - TR HIABT & :2024-10-10 ( 3RTA 5 FaY F 8:30 I1ST 9% d)

Y RS 2024-10-11 [2024-10-12 [2024-10-13 [2024-10-14 [2024-10-15
aut (e 0.0 0.0 0.0 0.0 0.0
SfYFaH AU, 37.0 37.0 38.0 38.0 38.0
LAAH AIa(d.) 24.0 25.0 25.0 25.0 25.0
Sftreraw ATAfere Simear (%) 34 32 49 37 32
AdH "TUTE® ST (%) 16 16 16 16 14
ga1 &1 Tt (f+ ufa gen) 3 7 8 9 10
ua+ fozm (&) 170 190 218 214 263
FATSS Hax (3N 0 0 0 4 6
Y R/ AdTa-il:

STt Ut fa & Sifereras aram 37.0 9 38.0 f3t SIS 3R =g=7aw araeH 24.0 9 25.0 fE3ht
IS 3G B TTaAT|

ATHT TATEPIR:

ST f&1 o HIGH W I8 1 THTaHT g | foraT HISa! &bt TaTg <1 Sl § fob Wit wara bt
Fers 9 IR 1 vl W B

WWWW

|3 arat fet B A Y[ g Bt YT |

wad ARy Jers:

LR wad fafe arg

T HTS TREIRTT B gaTs o Sad [he ol 3R.T -30, FA1-902, 3M=fafe, T 54,
- ST SR TH.3MR. 38 31 (IR, T TRET 26, T RN 27, A.TH.TH 0401 (el TR

Tq 3RS T, 145 B STIRIT Y| a8 3 4-5 [l I i Ufa gaeeR & fore wafw g1
AT &1 oad U WRE| &1 gars ot AT i |

https://agromet.imd.gov.in/index.php/District_advisory/pdf_reg_district_advisory?states=8&district=113 1/2



10/10/24, 12:39 PM Regional Advisory

Had wad ARy g

fopT TS T B! gaTS ¥ Id fhwl oI . 235, 3R TH.S 44, ST 663 aRGM,
AT [SN.TA.SH 2144 TS, SILTA.SH 2171 HIRT, SNL.TA.SH 1488 TTH UF 3R TSI 896 P STGRIT
o3 | gaTs &d 80-100 fral U &S Ufd gaeaR & e vl g

IRTa! fafRy gars:

CLUGIG] rTaT fafRry Teare

QTS P UTY dOR $HRA & fod IR R &9 | Q1 s, R 38, 31R.3M-252, ROR
WS [W9-3, SSAYR -102, THT HTSC BT d APHIa Aihe Wl Bt 39d [ g | Th gaeiR
He T & foT 10 Tl S e gl 2|

qR[UTer- fafdry wars:

LRILIGE] uxuTaH Ay Tae

oo TSN BT YTl I T S & 17U g8 T @1 q01 8% 1318 BT SUa & |
m@m/q&rﬁuﬁ)ﬁ&mw

Gg% 3 (et / ¥ dardh) fafke weme

S ST81 TR &1 e URUS a1 H gl 981 hud &1 Hels B Wd el Hx d WRIed
bk Tt B TR T T DT gaTS o Wl Bl AR B | & HIa! Bl AR & fore A
TS HR & qed §1G UTeT 3T T difs e} & T ST g 7 8|

https://agromet.imd.gov.in/index.php/District_advisory/pdf_reg_district_advisory?states=8&district=113 2/2



